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EUGENE DIETZGEN CO.

DRAWING MATERIALS, MATHEMATICAL and
g SURVEYING INSTRUMENTS
Chicago New York San Francisco New Orleans Pittsburg Toronto
Distances from Center of Roadway for Cross-Sectioning

Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.
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1]147.2]473 ! 47.7 .8 |47.9
48114821483 48.5 48.7 ), 48.9

Example—If point is 22.6 ft. above grade, how far should it be from center line
to be a slope stake point? Ans. from Table 30.6. .For same slopes but other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft. roadbed distance will be 30.6+(20—16) +32 or 2 ft. added to

80.6 =32.6. For slopes of 1 on 114 sce inside of back cover.
Copyright, 1914, by Eugene Dietsgen Co.
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Tasre IX.—CALCULATION OF EARTHWORK.

HEIGHT

CEID NI I Width
S

Gwowin ot

OO0 Uk INO

POINODR WORUIY OWO g—-oocnm DHIWO
R e =1
OROOH VRN CT OWN=Gt ©WM

O P00 OO DD mM
B e s TR S el (Lo S
BN OB 000000

i
WO O O (=] X
CUOUR i B WWWWW WWNONN NN etk s

W=D ok
oG GiblomO N o Lt

NaISS
VORW WO PORDL LS
OO WO OO0
SO WHROR BIOMW

ND=OWO0 IO
BOCTON 000
CONI O ik

OO
WO NN oooou

,
[NN00 OOoOI0l GGG ARG (OWWE MR i

-

OOPOOO DO NNNID DDA GdRB 00N OO mm

BRO0S MioON im0 ;ca)a»uiccbo "
COOCNW PRIIT TGOS GO b hh o WO NN

OWODN P I=OTIRx N
[~ S

DRI VO TN
I}

DON=T NOBRO

CHOUIW OVUMIWO NUOT

N=GTOW OO NSO

(=3
WWWWW WWONON NN DONIDIDD s bt gt ok ok ot b ok ot o ok
= A 9
o i OWCIWW WWWWN NN DO e -
RO .t o BT fanes B,
#»ON = O

DONNNN NN, RODIDO DD s bt bkt ok ok ok ok pd o ok ek ok ek
SOk ko

DODO DI DO DD bt b b ok ok ot o ok ek ek
©ORND  Srenis oo

R
1k
1.
1.
i
1
15
1.
i &
'
e
1%
Ly
1.

SOOI ONORIO

Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
figures opposite width considering the heights from 1 to 9 astenths. ‘Thusifw =16.2 and
h =5.3, cu. yds. =1.48+4-.028+-.089 =1.597 cu. yds. or practically 160 cu. yds. per 100 ft.
If w exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use
.one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the followingrule. To the triangle of the sum of the outside cuts (or fills)
=h, and ¥ the roadbed =w, add the triangles formed by taking the distance out to each
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h’s)
always subtracting the outer from the inner, '

DISTANCES FROM CENTER OF ROADWAY FOR
3 CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 114,
For Sipgle Track Embankment. - :
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Example—If point is 22.8 {t. above grade, how far should it be from center line to
be a slope stake point? Anps. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by one-half difference in width of roadbed; thus in example
above for 20 ft. roadbed distance will be 41.9+4(20—16)+2 or 2 ft. added to 41.9 =43.9.
For slopes of 1 on 1 see inside of front cover.

Made in Germany.




